SQCJ%@M 3.4

Coratlened oo & rnlljplies

\S\WQ&L‘M &ou\ \AQM\]t— +o Punmimm\2 e |
s\/\%cvt,( Grea % G. m,&béu)? Jo M'é&%

Volome C«‘\Xﬁ& Z(«jm f/‘@"q”{{/ fo W\%
gj\f@e wadenals).

oL St o potile mpwes ae
mﬁfc@dm whore e Fols

Ol T ) S

_/7; o T Words, e Wad Yo olwe

[Wih"%> p —
[ 0 )

¢a A imimize LM h+QTr*
subed 0 TTrth= 7



W (H mtind & Logoese rlliphon

o\

A NP1 N D) ﬁ& U — TR Lo
' Fdtons.

e bl Fel £ 8lF)=C, e (30) #0.
o b S= Corel sef Wit vabw C
Y ER SR

74 € estrcted b S (denstit Flo)

hoo o locad mar ot mm , o How i<
ZWW@/LX ch/@\‘]’e\@/%

(Fossibly A-0)

LW& A %&mj/'mﬁ?’k -35 Cls




Sufg@ef\e/ Hot € i< coutinvoun amd. L
contraint is  Cloaad and_ boumded. .

S:f@w\- ‘715\1 (;ifsjfﬂrwew,w@, hoe
Vﬁb@: //\Vé(:ib A Cocall mox ot min T

fot o A\
we wt need o Q\V\&W?fj\; tht sadisfo
Kw Gy =\ %®_ sy egpntion

Wﬁm)




M CM—/
;Q—Qa .I #\&6
M M/(./V\‘

raximo. o hedlee
= i

o s
04 Sw‘_eﬁ o
I ° L\]/’/'7[€,'7Lg‘2. W
VE = 2\Ja P

Stepe:
SO\V\Q QO’L />\ .6
9 / LCJB )Z

step3: lompule
C ot
ik oS %ﬁ?ﬁmﬁ i
fid .

Z \%
) b&lﬁ
,

AN
B e
Py not et . N o) = 4N
D

&w«%ﬂg_
S OWE
P e el —z\‘—eQ- Mfm
> & —:—Cljgz—-\ Bé c(
)

g—o"n

: - é(?(

siegl RN

g@(aga\: CEFRE! y
/960y ( 22//&§3

e
gowewwi C
WINPT
X ol
& s

e
29) = K(aean) 4
~ 2 _2_31 —|




;ré xzo? N

’:(-‘—&1—' = C\S_—i(

é—f—//\é - K="
SN

= éz‘% S M= 0

&—I:il
So l/\}e_é,a‘lt' —7L€’Q_ ’:PJ(_S (O//>/ (O/ /> / (//°>

E4o)

She™

MO~ o e

= PMax is CO/O} Clhoy =
P S Q(o/l)—g—(f); 1) = —|

RV
Lol

}’Ty\ﬂ( 7LKL, PN I U %/}’VWMW\ B)éy Q(X/gyl\: I-l—;_’)+2
Subpeck Jo I 132°=0

CAeg]
S_Oﬁ %@‘@&\‘-’CI/I} Y

Va2, 9,2) = (:27/ 4y, 62



want  JF = AN &

So e Want /)= ) x

[ = 7h«
[ = 6) 2
repns 7/ PrRwte 3224

walnow
SteeZ (Gtee fo 02,0
So A= 23%?3//\2
ad 4o (othedic = N g nef sabished
Hur | > = 24 = 32— (1)
D x=4yc = 92"
_:)ZSL: DCZr & 2°%= ;Z"/S

2 23 z [
So THEL L3 o G/Z+§>78:6

1:_6_. P, 2/Z:i
| 7T T
| l
X, T2
W) y=Z =5 &Bz—;?:—f
Z,:El_l_:_p‘_ Z‘Z:_:?_L—:rl_:
= /
_ 76, zmﬁ /—”(—4—3 -2)
——\(,—7—( / /) z'\m— / 2



Step>

EM«@%) CQ\@(L/«%?K/KPZ ) See
St S >Q-(FP7,>- P lowsver, sur consand Was

Cvaod gl \coundod '
Co QTN 15 wrax

Q(’Pz\ 1S i
S

Chagtory

Dec ] Acctmnatin

%M/Q’Q/J 6:“’\6"\ A Foﬂ E’(f\ F (Z(H/ a({"\/ 266’3\

we cam Compuis él,(flz C:c’(f\/a’(@, 27 (4
VL)
K\{L(odt’lV&C/ﬂD’L

MJ E/éﬁo\) s %W \/e/(‘/l%‘(, ‘I'D &?GJC\
C{j{t % 7>o\_,é 5(‘65

Kecals . |E(O s+t spead.



IO temntiation 1l . b R->K,2 K=>F

- ac%(/;(’cwf(@ﬁ _ B+ 2.
. Z¢ (®:R—=11R

(FOZW) = CHB® + MR ()

_8_'_&_\ C(‘EB z Zé — S @Ca C—f(_&‘)/ _ /C_é/_é?/ Z{z)
8&):(%)15/{) _+_ﬁ(//;?{:3éz
/

:(2@ %ZJ 7¢°)

(RO T - BUD-2 + B2 6
gncsa 3 prove it
. (BlOXZBY = BloHxe)+ Benxg®

NECON I ENRLS



Example s TF JJE®] = conat
Hon = 2(£)-T (€)= connd
= (2B -CwY = o
Q2 Ey =0
So TS is otk o T\t all £
Defution: A= V()= (L) 1s #He
accelowdion of Hho cunve .
= Z(6) = (x4, g, 2(5))
Lrample: Swpposr Mot Ho accaloration
o potide is Z(t) = — I Constad sec,
Supperr. Had Z(> = (0,0,1) 4 V(o)={),1,0)

C:'lv@\ ‘I’e\&_ ‘\l’.‘W\SL_,o\ g@dﬁaﬁceewbm %)*Q.QA/\,
7%, ’Fm:/’ic/e, eachoen Z =0



Soln i want o Crd. £ & C(E) =(x(O, wf),20)

N

W‘gr?/uz_ Z[f)’:O.

e Fmon #od Z(L) =(0,0,-1) V¢
£ a(€) = (=0, ¥ (8, 2"(1)

bd V(E)= (xle), p(8), 2(8))

So (t) = comnt
A0 = ol
2= =L + comnd

2=ttt gud A0)=0
B = Ercont ad YBY=0
Z(t) = —t) r it F 2(0)=1

W ad 22 2(£)=0 So wWe solue



-t =0 = ¢=AT (ke t20)

.SD zC\[—> (r/\(—/o>
i~ 770811994/& (927%2 77015/7(,0.@
whon i1 eaoer He Z-0 Phana

?@C_A\/\J o (Hm,a l% s G-'?I(A‘/\,\QXS YR, , knsd

_%@"%I"’S raLO(M«/)>
Swppore (D= (rm;t) r&A;;)e—m

is Tre svbit gl a Planet. st
Then e Peusd /s]/:—’cﬁ—_l\ y, Lc’:’(fﬁll o <A+

_ZQ- ‘?/ﬂ/"\b_”/ M:,/aa/g is \/[é)’ (“\SJ.V\, S_‘-L_/ S e S J

wd ifs  sed s )//7(6)//:\\( Y (Y = sj

e

Ho agelloadionis (6 =V(O)= (S oast S s st)

— B __37- .
So Bl6)= =%, (Cwsk (-5t )
(,WL/_\/\/

— " EE)
CCWQQ_ S/r')_ LQ> QA) /S‘/e.QQ_(.ULW%

So [a@: 3 aM




Bt Thosics bl wn Sk foce Fop &

dod. Ak GKAX%M -




